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Name

10-digit PUID

Recitation Instructor Recitation Section Number

Lecture's Name

Instructions:

1. Academic Integrity

a.
b.

C.

d.

C.

Students may not open the exam until instructed to do so.
Students must obey the orders and requests by all proctors, TAs, and lecturers.

No student may leave in the first 20 minutes or in the last 10 minutes of the
exam.

Books, notes, calculators, or any electronic devices are not allowed on the exam,
and they should not even be in sight in the exam room. Students may not look at
anybody elses test, and may not communicate with anybody else except, if they
have a question, with their TA or lecturer.

After time is called, the students have to put down all writing instruments and
remain in their seats, while the TAs will collect the scantrons and the exains.

Any violation of these rules and any act of academic dishonesty may result in
severe penalties. Additionally, all violators will be reported to the Office of the
Dean of Students.

I have read and understand the exam rules stated above:
STUDENT NAME (print):
STUDENT SIGNATURE:

2. Fill in all the information requested above. On the scantron sheet fill in your name,
student ID number, and the section number of your recitation with an extra 0 at the
left. Blacken the correct circles.

3. This booklet contains 12 problems.. Problems 1 through 4 are worth 9 points each.
Problems 5 through 12 are worth 8 points each. The maximum score is 100 points.

4. For each problem mark your answer on the scantron sheet and also circle it in this
booklet.

5. Work only on the pages of this booklet.

Mark TEST (1 on your scantron!
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1. If R is the region in the first quadrant bounded above by y = 3 — 2r and below by
y = 22, and if the center of mass is (T,7), compute T.

A L
3
B.
18
7
C. 30
D. =
12
5
K. 1

l)ﬂ'—i—‘)ﬂ 1

2. Compute Z m

r=1

@lL—; | ~1 #la W | Qe “E“IE
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3. Which of the following limits exist?
2. 2 J_ -l12-?1 I
[ fim YO0 ES L lim 272 L. lim —m
n—ooc 2n —1 n—oc 112 +1 oG /1

. I and I only

A

B. 1 only

C. Il only

D. I, IT and I

E. None of them

4. IS = Z which integer IV is the smallest integer such that the Alternating
v Qn e

Series Estunate 1mphcs that |5 — Sy| < 0.1
A

= 9 0w,
(R T T N
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5.

I1.

TIL

V.

I1.

111

o)
1
Which statements are true about Z —_—

vVand +1

n=2
Using Z by, = Z = the Limit Comparison Test implies the series converges.
Using Z b = Z —, the Limit Comparison Test implies the series diverges.
n
Using Z b, = Z e the Comparison Test implies that the series converges.

o0 i =)
1 . . . .
Using Z b, = Z e the Comparison Test implies that the series diverges

I, 1
I only
I, IV
1V only

o aw >

e

I only

Which statements are true?

e
> 1, then Z o, diverges.

n=1

) . (L,H_l
If ap >0 and lim
Ot (I

. Qi1
If a, >0 and lim —=F

n—oc (n

[>'o]
=1, then E Gy, CONVETZES,

=1

oG
Ifa, >0 and lim g, =0, then E Uy CONVErgES.
FL—F O

n=1
A. T only

B. I, 11

C. 11 only

D III only

E. None of them.
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7. Which of the following series converges conditionally?

A

8. Let f(x) = x®sin 3z. Find f5N{0).

A,

n=1

s L
- ne4+n
>
n==2

S (=1)men
n=1

243
120
27
6
27

6

. 243

—540
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9. Compute the Taylor Series of
flx) = 2432t -+ 1

about 2 = 1.

A 4+9x—1)+18(x — 1) +24(x — 1)3+ (2 — 1)*

B. 4+ 9 —1)+9(z - 1)? +8(x—1)3+24{x — 1)*
C. 44 (x—1)%2+3x—-1)*
D. 4+9(x—1)+9(x—1)%+d(z— 1)+ (z — 1)*
E. 4+ (x— 1% +6(z—1)*
10. The set of values & for which the power series i %2—;1:” CONVerges is

n=0
A, x=0only

B. :21 <x < é
C. -1l<a<l
D. 2<a<?2
B

R
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11. If (1 + z)e” is written as a Maclaurin series,

(1+3)e" = cg+ c1r + epa® +egx’ + -

then ¢z equals

AL
2
1
B. =
6
C. =
3
5
D. =
6
2
B o~
3

12. The first 3 non-zero terms of the Taylor serics of an antiderivative of cos/x are

2 3
i T
A.r— —+ —
Tyt
x x?
B.1- 24X
7 T oa
C. xr- 1_3 i
6 120
e g
Ll - =4+ —
D 2 + 24
NES ;T
E. 1 5 21



